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Adding a 2-digit number and a 1-digit number,

missing addend

Grade 2 Addition Worksheet

Find the sum.

1 + 9 =50

6+ =13
9. 47 +6 =
1.5+ =11
1. +5=72
5. +5=81
r. +8=51
1977 + = 86

10.

12.

14.

16.

18.

20.

65 + 7 =
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Adding a 2-digit number and a 1-digit number,
missing addend

Grade 2 Addition Worksheet

Find the sum.

L 41 +9=50 2.24+ 6 =30
3 1 +9=10 4 65+ 7 =172
5. 88 + 8 = 96 6. 76 + 6 = 82
7.6+ 7 =13 8. 16 + 7 =23
9. 47 + 6 = 53 10.62 + 9 =71
1.5+ 6 =11 12.17 + 4 =21
13. 67 +5 =72 14.61 +9 =70
15. 76 + 5 =81 16. 81 + 9 =90
17. 43 + 8 = 51 8.8+ 9 =17
19. 77 + 9 =86 20. 48 + 4 =52
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